ZEREHAR(A)

(B )

b= =4l ZHEE X HiEE
1A3H| HE |[HEmESBEEHERFAN 10,000
1A5H| HE [100RLULOSEHESEETHR 10,000
1A6R| HE [100mULOSEEHEFTHR 10,000
1A8H| 2E& |[HEMERREFFLE 6,000
1A% 28 |LitAIx-#HF2E 5,000
1A9E| |RE FREEZEDSHLIBIFERE (REMEIAHLLTER 4312
1ANB| |8 | KAFHEFRHER NER (REHIKLLTHER 4,312
1A14H| B [N LTREEZFRARVETER 46,500
1A16H| £& |LILOEXSHFE (REMEIARELTED 4,360
1A168| B | ETEBAEAEZTRKRVOETENR 26,500
1A208| £ HE#RXBZE=FAARESREERE (KREHASLLTERE 4,312
1A21H| £8 MLBEIRBRIHERAERE (REMEIAFLLTED 4,532
1A228| BE | EZEEFIRVEEEDYDEOFLIE (F) 3,405
1A238| RE |[(—#)MNLHEREHIFERERE 5,000
1A248| & |LBNBRRREFESE 7,000
1A248| BF |[100@ULOEEELEEFH 10,000
1A248| £ BHEIRZHARFEMBEECESERMESBRSE 7,000
1A25H| #ifE ERFBRAST2EHFRES 10,000
1A25H| =& |AHIBXEEMKGEEENTHESR (RBHEANELTER) 4,330
1A268| =& |SMEEHESEHARE (RERIKLLTER) 4,312
1A268| B% BEUREMMNESHFSOBEOFLE CH. BH& K) 31,306
1A26H| =& HEABKRERNLEFERE 8,000
1A278| <& MEIMERRSHEHESE 5,000
1A288| R [BKERKEDREAHERE 5,000
1A298| <& #HAREBELISEMIMEHR IS —BHIE 6,000




ZEREXHAER(A)

(B )
XHiA &7 ZHEE X HiEE

26| 1A29B| =& (EX&HER (REEIFELLTHER) 4,300
27 1H298| #%E BELRUREFEFOLYOEOFLE (BHHR) 14,280
28| 1H298| BE EBEERUBREFDLYOEOFLE (EF) 2,970
29 1A30H| R HLImERRSEXRBEREESBEHRE 6,000
300 1A31H| RE |EMBItHREAKBBERBRS (REWEISLLTED 4312
31 1A318| BE [100mULOEHEHEETHR 10,000
1 A & 284,043




